

WINE RETAIL LIST

WHITE / ROSÉ

		RRP BOTTLE/ CASE	SILVER BOTTLE/ CASE	GOLD BOTTLE/ CASE	PLATINUM BOTTLE/ CASE
超	Hope Estate Pinot Chardonnay <i>NV</i> (case of 12) Pinot and Chardonnay combine well as a sparkling wine, showing a fresh, delicate floral and citrus bouquet. With a traditional creamy texture and generous fruit flavour, this sparkling wine is a real crowd pleaser and a wine for all occasions!	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168
M	OSCATO				
記	Hope Estate Moscato <i>NV</i> (case of 12) Deliciously refreshing and naturally fruit-sweet, this crystal white Moscato has a delicate aroma of freshly crushed grapes and rose petals. It's perfectly balanced spritz and sweetness makes it the ideal party partner. Serve chilled and enjoy now.	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168
Tower	Tower Estate Moscato <i>NV</i> (case of 12) Modelled on the famous Moscato d 'Asti wines from Italy's Piedmont region, the crisp acidity and natural juicy sweetness is enhanced by the delicate fizz characteristic of this style. The palate shows elegant flavours of lychee's and fresh berries.	\$22/ \$264	\$19.8/ \$237.6	\$16.5/ \$198	\$15.4/ \$184.8
RC)SÉ				
路	Hope Estate 2020 Rosé <i>Hunter Valley, NSW</i> (case of 12) Our Rosé is young, fresh and fruit driven. The wine is lightly sweet with ripe berry flavours – notes of strawberries and raspberries. Serve chilled on a hot day. Ideal summer drinking!	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168
RII	ESLING				
13000 H	Tower Estate 2021 Clare Valley Riesling <i>Clare Valley, SA (case of 12)</i> A generous growing season has provided this 2021 Riesling with delicate floral and vibrant lime and stoney aromas. This wine has an elegant and silky palate with intense lime flavours and a clean crisp finish.	\$26/ \$312	\$23.4/ \$280.8	\$19.5/ \$234	\$18.2/ \$218.4
2	Signature Series 2021 Riesling <i>Macedon Ranges, VIC (case of 6)</i> This younger Riesling has a fresh and intense palate of limes and stoney acidity with a succulent mouth-feel and lingering finish, complementing the citrus and jasmine fragrance.	\$40/ \$240	\$36/ \$216	\$30/ \$180	\$28/ \$168
5 A	UVIGNON BLANC				
	Hope Estate 2019 Sauvignon Blanc <i>Western Australia</i> (case of 12) This younger Riesling has a fresh and intense palate of limes and stoney acidity with a succulent mouth-feel and lingering finish, complementing the citrus and jasmine fragrance.	\$24/ \$288	\$21.6/ \$259.2	\$18/ \$216	\$16.8/ \$201.6

SE	MILLON	RRP BOTTLE/ CASE	SILVER BOTTLE/ CASE	GOLD BOTTLE/ CASE	PLATINUM BOTTLE/ CASE		
路	Hope Estate 2018 Semillon <i>Hunter Valley, NSW (case of 12)</i> This single vineyard Semillon is grown on the Wollombi Brook vineyard adjacent to one of the tributaries of the Hunter River. Tasting this you can see why the Hunter is famous for Semillon - the classic citrus and lime character is evident.	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
SE	MILLON VERDELHO						
能	Hope Estate 2020 'Opening Act' Semillon Verdelho Hunter Valley, NSW (case of 12) This intriguing blend of two renowned Hunter varieties is delicate, fruity, refreshing, and gently sweet. Beautiful citrus aromas with sweet tropical notes. A wine drinker's fruit salad with alcohol! Serve lightly chilled and enjoy the show!	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
VE	RDELHO						
路	Hope Estate 2019 Verdelho Hunter Valley, NSW (case of 12) A now Hunter classic that boasts bright tropical fruit and musk aromas and flavours. Full flavoured, yet unoaked, the all-important crisp acidity makes this a perfect match for seafood or spicy food. The perfect party wine!	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
C⊦	IARDONNAY						
路	Hope Estate 2020 Mountain Wash Chardonnay Hunter Valley, NSW (case of 12) This single vineyard Chardonnay is grown on the Mountain wash vineyard which lies directly under the Wollemi Range. It is perfectly balanced between delicate peach, pear and ripe citrus fruit characters with subtle integrated oak.	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
	Signature Series 2017 Chardonnay <i>Hunter Valley, NSW</i> (case of 6) A complex, balanced wine that is ageing very well, white gold in colour with aromas of vanilla and tropical fruits, the palate is packed with ripe stonefruit and a lingering oaky finish from barrel fermenting and ageing in new French oak hogsheads.	\$40/ \$240	\$36/ \$216	\$30/ \$180	\$28/ \$168		
Raining Control of Con	Tower Estate 2019 Hunter Valley Chardonnay <i>Hunter Valley, NSW (case of 12)</i> White gold in colour, this younger Chardonnay has upfront white peach flavours and seamlessly transitions to an elegant French oak finish.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
TOWER COLUMN	Tower Estate 2021 Adelaide Hills Chardonnay <i>Adelaide Hills, SA</i> (case of 12) White Gold with green highlights and aromas of stone fruit and fresh white flowers. This Chardonnay has flavours of stone fruit and nectarine to compliment the natural freshness of it's acidity, supporting the texture, balance and mouthfeel of the palate.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
AG	AGED WHITES						
TOWER	Tower Estate 2013 Clare Valley 'Watervale' Riesling <i>Clare Valley, SA (case of 12)</i> South Australia's Clare Valley is regarded as one of the country's premium regions for dry style Riesling. This wine has elegant floral and citrus aroma followed by a firm, refreshing palate and persistent length of melon, peach and citrus blending well with spicy notes.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
	Signature Series 2015 Semillon <i>Hunter Valley, NSW (case of 6)</i> This younger Riesling has a fresh and intense palate of limes and stoney acidity with a succulent mouth-feel and lingering finish, complementing the citrus and jasmine fragrance.	\$40/ \$240	\$36/ \$216	\$30/ \$180	\$28/ \$168		
TOWER	Tower Estate 2017 Hunter Valley Semillon <i>Hunter Valley, NSW (case of 12)</i> An elegant young Semillon with pleasant lavender aromas and a bright crisp citrus palate. A great example of the renowned Hunter Valley Semillon with toasty aged characters to come.	\$28/ \$336	\$25.2/ \$302.4	\$21/ \$252	\$19.6/ \$235.2		

AGED WHITES (continued)		RRP	SILVER	GOLD	PLATINUM
		BOTTLE/	BOTTLE/	BOTTLE/	BOTTLE/
		CASE	CASE	CASE	CASE
	Tower Estate 2013 Coombe Rise Semillon <i>Hunter Valley, NSW (case of 12)</i> Dandelion, honey and lavender characters lead the palate into notes of buttered toast. A great example of the renowned Hunter Valley aged Semillon with plenty more aged characters to come.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2
	Signature Series 2014 Chardonnay <i>Hunter Valley, NSW (case of 6)</i>	\$40/	\$36/	\$30/	\$28/
	A complex, balanced and fresh style of wine that is ageing very well. Still showing bright fruit, the complexity in the wine from a combination of wild yeast fermentations, partial malolactic fermentation and barrel maturation, leave this wine in a great position to improve with age.	\$240	\$216	\$180	\$168
TOWER	Tower Estate 2011 Adelaide Hills 'Bower Ridge' Chardonnay <i>Adelaide Hills, SA (case of 12)</i> Bold, golden and rich in complexion, this is a stylish and elegant Chardonnay with poise and balance. A creamy texture and peach fruits are the cornerstone of the wines palate.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2

RED

RED RRP SILVER GOLD PLATI					
PI	NOT NOIR	BOTTLE/ CASE	BOTTLE/ CASE	BOTTLE/ CASE	BOTTLE/ CASE
2	Signature Series 2021 Pinot Noir <i>Hunter Valley, NSW (case of 6)</i> Dark crimson in colour, this youthful Pinot Noir has delicate yet warm flavours of dark berries and spice with subtle earthy aromas. The palate is supported by fine tannins and a balanced acidity with beautifully integrated oak flavour.	\$40/ \$240	\$36/ \$216	\$30/ \$180	\$28/ \$168
TO ME	Tower Estate 2020 Macedon Ranges Pinot Noir <i>Macedon Ranges, VIC (case of 12)</i> Exotic dark plums and cherries lead the nose of this cool climate wine with an elegant palate driven by plum characters and hints of spice. The acidity is exceptionally well balanced with the velvety soft tannins from ageing in French oak for 18 months.	\$60/ \$720	\$54/ \$648	\$45/ \$540	\$42/ \$504
M	ALBEC				
	Tower Estate 2018 Macedon Ranges Malbec <i>Macedon Ranges, VIC</i> (case of 12) The Malbec grape thrives in the ultra cool conditions at 680 metres altitude near Kyneton in the Macedon Ranges. This new world Malbec has exotic, floral and spicy aromas and a savoury palate with red plum fruit and a smoky silky finish.	\$50/ \$600	\$45/ \$540	\$37.5/ \$450	\$35/ \$420
	Macedon Hills 2017 Shiraz Malbec <i>Macedon Ranges, VIC (case of 6)</i> With aromas of blueberries, mocha and cedar, the palate reveals a delightful mix of spicy Shiraz and luscious Malbec. The silky smooth velvety tannins complement the abundant flavours of vanilla, blackberries, pepper and spice.	\$50/ \$300	\$45/ \$270	\$37.5/ \$225	\$35/ \$210
VI	RGIN HILLS				
ESSEE M	2012 Virgin Hills <i>Kyneton, VIC</i> (<i>case of 6</i>) 2012 was an early budburst, fruit set and veraison season. The wines produced are above average and have good fruit flavour with higher natural acidity than usual. In general, yields were lower than the norm.	\$65/ \$390	\$58.5/ \$351	\$48.75/ \$292.5	\$45.5/ \$273
1943 H 144 241	2013 Virgin Hills <i>Kyneton, VIC</i> (<i>case of 6</i>) There is a feeling across Victoria region that 2013 may go down as the vintage of the decade. Low rainfall and plenty of heat from December onwards meant winemakers could	\$65/ \$390		\$48.75/ \$292.5	

decade. Low rainfall and plenty of heat from December onwards meant winemakers could obtain beautifully ripe fruit, which can be a challenge in parts of this very cool region.

SH	IRAZ	RRP BOTTLE/ CASE	SILVER BOTTLE/ CASE	GOLD BOTTLE/ CASE	PLATINUM BOTTLE/ CASE		
躍	Hope Estate 2019 Shiraz <i>Australia</i> (case of 12) Traditional wine making techniques and new and old oak has created a medium bodied Australian Shiraz bursting with plummy fruit flavours and a silky sophisticated palate with soft lush tannins and a dry finish.	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
隆	Hope Estate 2017 'The Ripper' Shiraz <i>Western Australia (case of 12)</i> Vibrant colour and tannin structure exhibiting the classic Aussie Shiraz plum and spice characters, and perfect balance of oak and acidity. There is a deep elegance to the wine from the Western Australian climate. Truly a Ripper!	\$24/ \$288	\$21.6/ \$259.2	\$18/ \$216	\$16.8/ \$201.6		
TOWER	Tower Estate 2017 Hunter Valley Shiraz <i>Hunter Valley, NSW (case of 12)</i> A tightly structured elegant palate with a stylish tannic finish. Subtle smoky and cherry aromas are enhanced by flavours of cherries and black plum with cedary notes. Extended time in the cellar will reveal the development of earthy, savoury characters.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
TOWER And A	Tower Estate 2017 Barossa Valley Shiraz <i>Barossa Valley, SA (case of 12)</i> Upfront sweet plum fruits with notes of lush vanilla lead the palate, balancing with the velvety soft tannins and an attractive spicy finish. Aromas of blackcurrant, spice and pepper meld together in harmony with the rich yet supple characters of this Shiraz.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
	Signature Series 2017 Shiraz <i>Hunter Valley, NSW</i> (case of 6) This wine is simply a combination of intense berry fruit, velvety tannins, a balanced acidity and light toasty oak from French and American barrel maturation and an overall flavour that lingers.	\$50/ \$300	\$45/ \$270	\$37.5/ \$225	\$35/ \$210		
ME	RLOT						
比	Hope Estate 2019 Merlot <i>Hunter Valley, NSW (case of 12)</i> Traditional wine making techniques and new and old oak has created a medium bodied Australian Merlot showing great depth of cherry and plum flavours, with velvety tannins and a soft lingering finish.	\$20/ \$240	\$18/ \$216	\$15/ \$180	\$14/ \$168		
СА	BERNET MERLOT						
腔	Hope Estate 2018 'The Cracker' Cabernet Merlot <i>Western Australia (case of 12)</i> Upfront sweet blackberry and currants explode to fill the palate. A full-bodied mouth-feel is supported by ripe tannins, vanillin oak, fruit and a sweetness that melds into the wine. Truly a Cracker!	\$24/ \$288	\$21.6/ \$259.2	\$18/ \$216	\$16.8/ \$201.6		
CA	CABERNET SAUVIGNON						
	Tower Estate 2016 Coonawarra Cabernet Sauvignon <i>Coonawarra, SA (case of 12)</i> The Coonawarra's famed Terra Rossa soil has provided us with a big, rich Cabernet showing red currants, vanilla, dark chocolate and cassis characters leading to a cedary finish lengthened by time in French oak barriques.	\$38/ \$432	\$34.2/ \$410.4	\$28.5/ \$342	\$26.6/ \$319.2		
R	Macedon Hills 2018 Cabernet Sauvignon <i>Macedon Ranges, VIC (case of 6)</i> Medium to full-bodied, with good intensity of colour, aromas of blackberry and dark chocolate. A powerful palate is balanced by soft, velvety tannins and subtle, intermingled French oak.	\$50/ \$300	\$45/ \$270	\$37.5/ \$225	\$35/ \$210		

AGED REDS		RRP BOTTLE/ CASE	SILVER BOTTLE/ CASE	GOLD BOTTLE/ CASE	PLATINUM BOTTLE/ CASE
	Signature Series 2014 Merlot <i>Hunter Valley, NSW (case of 6)</i> This is a full bodied, richer style of Merlot. A drier year produced more concentrated plummy Merlot fruit characters and tannins, aided by the maturation of the wine in older French oak hogsheads. An elegant Merlot yet with some serious weight!	\$40/ \$240	\$35/ \$216	\$30/ \$180	\$28/ \$168
隆	Hope Estate 2011 Merlot Hunter Valley, NSW (case of 12) A complex merlot with aromas of black cherries, plum and spice. The palate is a flavoursome combination of rich cherry and savoury characters enhanced by balanced acidity, subtle oak and soft tannins. A series merlot!	\$30/ \$360	\$27/ \$324	\$22.5/ \$270	\$21/ \$252
	Signature Series 2008 Sparkling Shiraz <i>NV</i> (case of 6) Our first endeavour into this iconic style and we are sure you will love it. Packed with red and black fruit, dark chocolate and slightly spicy flavours, it's a great example of sparkling red and of Hunter Shiraz, all in one.	\$40/ \$240	\$35/ \$216	\$30/ \$180	\$28/ \$168
	Signature Series 2015 Malbec <i>Macedon Ranges, VIC (case of 6)</i> Our 2015 Malbec is a great example of the style from our "cool climate" Victorian vineyard. Fruity, spicy and savoury flavours, with a great balance of acidity and oak. This wine is complex and satisfying.	\$40/ \$240	\$35/ \$216	\$30/ \$180	\$28/ \$168
THE STATE	2010 Virgin Hills <i>Kyneton, VIC (case of 6)</i> Quality for the 2010 vintage is expected to be the best in a few years. Macedon Ranges had issues with rain during flowering, rain that came and went through the growing season, although generally to the advantage of the vines.	\$75/ \$450	\$67.5/ \$405	\$56.25/ \$337.5	\$52.5/ \$315
TOWER	Tower Estate 2013 Barossa Valley Shiraz <i>Barossa Valley, SA</i> (case of 12) The jammy palate along with the sweet plum, spice and mild coconut aromas all meld together in harmony as this wine continues to age. It is gifted with great structure and balance.	\$48/ \$576	\$43.2/ \$518.4	\$36/ \$432	\$33.6/ \$403.2
TOWER	Tower Estate 2014 Reserve Hunter Valley Shiraz <i>Hunter Valley, NSW</i> (case of 12) Crafted from one of the most renowned vintages the Hunter Valley has ever seen, this Shiraz is stylish and elegant with aromas of black cherries and leather. The palate is savoury with subtle plum and earthy characters, it will continue to develop into something extraordinary.	\$95/ \$1140	\$85.5/ \$1026	\$71.25/ \$855	\$66.5/ \$798
Town (TA	Tower Estate 2011 Reserve Hunter Valley Shiraz <i>Hunter Valley, NSW (case of 12)</i> A very complex Shiraz with aromas of balsamic, strawberries, leather and subtle cherries. The palate is lifted by bright acidity. Showing great potential - will continue to develop its nuances.	\$125/ \$1500	\$112.5/ \$1350	\$93.75/ \$1125	\$87.5/ \$1050
躍	Hope Estate 1.5L Magnum 2012 Shiraz <i>Hunter Valley, NSW (bottle only)</i> Our 2012 Shiraz is a great example of a typical Hunter Shiraz, earthy and peppery with generous fruit flavours. By using a combination of fermentation methods, we have obtained a complex and satisfying Shiraz that is incredible to drink.	\$50	\$45	\$37.5	\$35